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Program Start

System Init

System Value

PROGRAMNAME="JESICA ( simplex method support soft )”

FONTSTYLE=" M S

FONTS1ZE=12
EXTENSION="jpd”
VERSION="1. 00"
SYSTEMWA1T=30
SYSTEMT IME=0
SYSTEMVIEW=0
sdim FNAME, 1024
sdim ENAME, 1024
sdim SOM, 1024
sdim SSTR, 128
ddim SDV, 8
dim DBG, 64
DEBUGW I NDOW=0

SOMnom=0

Key Cord :
KeyNum=16

dim KEYcord, KeyNum

dim KEYsign, KeyNum

dim KEYpast, KeyNum

n=0:KEYcord. n=37

:KEYcord. n=38

n+

:KEYcord. n=39

n+

:KEYcord. n=40

n+

:KEYcord. n=01

n+

:KEYcord. n=02

n+

:KEYcord. n=09

n+

:KEYcord. n=16

n+

:KEYcord. n=17

n+

:KEYcord. n=18

n+

:KEYcord. n=32

n+

= A
;Personal Extension (Jesica Problem Data)
;Version
;System Wait Time
;System Count Time
;System View Mode [ O=Input , 1=Table
;System File Name
;System Edit Name
;System Operation Message
;System String
;System Double Value
;System Debug Stat
;System Debug Window
;System Operation Message Number
getkey
;00. [«]
;01.[1]
;02. [=]
;03.[1]

;04. [LeftCrick]
;05. [RightCrick]
;06. [Tab]

;07. [Shift]

;08. [Ctrl]

;09. [Alt]

;10. [Space]

2=Result ]




Memory

n=0:1D_MAIN=n ;Buffer 1D

n+ :1D_STORE=n ;Buffer 1D

n+ :1D_SYSTEM=n ;Buffer 1D

n+ JID_TITLE=n ;Buffer 1D

n+ :1D_BACK=n ;Buffer 1D

n+ :1D_GRAPH=n ;Buffer 1D

n+ :1D_GRAPH_S=n ;Buffer 1D

wx=800:wy=600 ;Window Size

notesel EDTnote ;Edit Note Selection
Data

sdim DATinput ;Data Input

sdim DATcompile ;Data Compile Strings

DATcmp=0 ;Data Compile

DATaim=0 ;Data Aim [0=Max, 1=Min]

DATov=0 ;Data Ordered Variable
Effect

effect=64

n=effect

dim EFFcnd, n

dim EFFtyp, n

dim EFFcnt, n

dim EFFx, n

dim EFFy, n
Object

n=32

0BJnum=0 ;0bject Number

dim 0BJid, n ;0bject 1D

dim OBJcnd, n ;0bject Condition
Etc.

CELL=32

ACC=100

sdim ATTENTION, 1024

goto *BOOT

Function (C)

#tdefcfunc JesicaComment int fjc_n

SOMnum=f jc_n




SSTR=""
if fjc_n=001
if fic_n=002

if fic_n=003

if fic_n=004:

if fic_n=005
if fic_n=006

if fic_n=007

if fic_n=010:

if fic_n=101

SR LTT &L,

if fic_n=201:SSTR=" 1§ 7.
return SSTR
#tdefcfunc FigureCheck str ffc_str
ffc_n=0
cnvstow ffc_c, ffc_str
(ffe_c =000)
(ffc_c>=048) & (ffc_c<=057) : ffc_n=2
(ffc_c>=065) & (ffc_c<=090) : ffc_n=3
(ffc_c>=097) & (ffc_c<=122) : ffc_n=3
(ffo_c =043)
(ffo_c =045)
(ffo_c =042)
(ffo_c =047)
(ffe_c =060)
(ffe_c =062)
(ffe_c =061)
;iT (ffe_c>=033) & (ffc_c<=041) : ffc_n=3
if (ffc_c =044)
;if (ffe_c =046)
if (ffc_c>=058) & (ffc_c<=059) : ffc_n=3
if (ffc_c>=063)& (ffc_c<=064) : ffc_n=3
if (ffc_c>=123) & (ffc_c<=126) : ffc_n=3
return ffc_n
#defcfunc CalFractPledge int cfp_m, int cfp_d
cfp_a=cfp_m:if cfp_a<0:cfp_a=—cfp_a
cfp_b=cfp_d:if cfp_b<0:cfp_b=—cfp_b
if (cfp_a=0) | (cfp_b=0) :return 1
if cfp_a<dfp_b{
cfp_c=cfp_a

cfp_a=cfp_b

ffe_n=1 ;Null
;Number
;Alphabet (Capital)
;Alphabet (Small)
:ffe_n=4  ;Formula (+)
:ffe_n=4  ;Formula (-)
ffe_n=b  ;Formula (¥)
:ffe_n=b  ;Formula (/)
ffe_n=6  ;Formula )
ffe_n=6  ;Formula )
ffe_n=7 ;Formula (=)
;Alphabet (Special) [!, ", #.8 %8& ", ()]
:ffe_n=3  ;Alphabet (Special) [,]
:ffe_n=3  ;Alphabet (Special) [.]

;Alphabet (Special) [:, ;]
;Alphabet (Special) [?,@]

;Alphabet (Special) [{, [}, "]

SSTR="  #H B BERREZEOHETT,

SSTR="  FHRAH  BEREEOHETT.

SSTR="  LERHFE  BEXREEOHETI.

SSTR=" KE BEXREOHBETI.

:SSTR=" #®TY . TOoYSLERTLET,

:SSTR=" RN ABEnt=z2> 0T Ly I RKRITL, ERY FBERI T —X2HBIT
:SSTR=" B3 ANT7z—XRYFEST, MEFOLI U TLYIRREHEESAET
SSR="F T2 av: 20T LI RRDEEIIODVT, BRERENVEEZLFEFT,

SSTR=" HE, AANE—FTY, BWAEHBPAXZAALTTFEL, AHDRUBTHEAEZF L

T—TLEEE—-—FTT, YUy I LTERY FPERBRLTTF S,

LET,

EAL 7




cfp_b=cfp_c
}
repeat —-1:if (0=cnt¥1000) :await
cfp_c=cfp_a¥cfp_b
if cfp_c=0:break
cfp_a=cfp_b
cfp_b=cfp_c
loop
return cfp_b
#tdefcfunc StrFract int sff_m, int sff_d
if sff_d=0:return “(ERROR)”
sff_p=CalFractPledge (sff_m, sff_d)
stf_pm=sff_m/sff_p
sff_pd=sff_d/sff_p
if sff_pd=1{
if sff_pm<O:sff=""+sff_pm:return sff
sff=" “+sff_pm:return sff
}
if sff_pd=—1{
sff_pm=—sff_pm
if sff_pm<O:sff=""+sff_pm:return sff
sff=" “+sff_pm:return sff
}
SFF=" ("+sFF_pmt”/"+sFF_pd+”)
return sff

Function

#deffunc DebugTable
SSTR=""
repeat DATfnc:n=cnt

repeat DATvar :m=cnt

SSTR+=""+StrFract (DATtable_m. n.m, DATtable_d.n.m)+", "

loop
SSTR+="¥n"

loop

dialog SSTR

return

#deffunc DebugDisp

SSTR=""

repeat TBLrow:n=cnt
repeat TBLcol :m=cnt

SSTR+=""+TBLdisplay. n.m+”, ”

loop

SSTR+="¥n"




loop
dialog SSTR
return
#tdeffunc Draw
redraw 1
await SYSTEMWAIT
redraw 0
return
#tdeffunc Keyln
getkey a, 27 tif a=1:end
KEYwhee [=mousew
CSrpX=CSrX
csrpy=csry
CSrx=mousex
csry=mousey
repeat KeyNum:n=cnt
getkey key, KEYcord. n

KEYpast. n=KEYsign. n

if key=0:KEYsign.n=0:else:KEYsign. n+

loop
return

#tdeffunc ColorOrder int fcl_o

fcl_j=fcl_o¥13

fcl_i=0:if fcl_j=fcl_i:COLr=000:CO0Lg=000:
fel_i+ :if fcl_j=fcl_i:COLr=000:C0Lg=064:
fel_i+ :if fcl_j=fcl_i:COLr=128:C0Lg=064:
fel_i+ :if fcl_j=fcl_i:COLr=000:C0Lg=128:
fel_i+ :if fcl_j=fcl_i:COLr=096:C0Lg=000:
fel_i+ :if fcl_j=fcl_i:COLr=128:C0Lg=064:
fel_i+ :if fcl_j=fcl_i:COLr=128:C0Lg=128:
fel_i+ :if fcl_j=fcl_i:COLr=064:C0Lg=064:
fel_i+ :if fcl_j=fcl_i:COLr=000:C0Lg=000:
fel_i+ :if fcl_j=fcl_i:COLr=255:C0Lg=128:
fel_i+ :if fcl_j=fcl_i:COLr=000:C0Lg=128:
fel_i+ :if fcl_j=fcl_i:COLr=128:C0Lg=000:
fel_i+ :if fcl_j=fcl_i:COLr=255:C0Lg=000:
return

COLb=128:
COLb=000:
COLb=000:
COLb=128:
COLb=160:
COLb=064:
COLb=064:
COLb=064:
COLb=255:
COLb=000:
COLb=128:
COLb=128:

COLb=128:

#deffunc LineBox int flb_x1, int flb_y1, int flb_x2, int flb_y2

line flb_x1, flb_y1, flb_x2, flb_y1
line flb_x2, flb_y1, flb_x2, flb_y2
line flb_x2, flb_y2, flb_x1, flb_y2
line flb_x1, flb_y2, flb_x1, flb_y1

return

return

return

return

return

return

return

return

return

return

return

return

return

return




#deffunc ObjectInit
foi_j=0
notesel EDTnote
noteload “object. txt”
noteget SSTR, SYSTEMVIEW
repeat 32:foi_i=cnt
getstr OBJid. foi_i, SSTR, foi_j, ', :foi_j+=strsize
if strsize=0:break
loop
0BJnum=foi_i
return
#tdeffunc ObjectAction int foa_n
if foa_n=05{
dialog ” # 7 L & 3 A 2 7, 2, PROGRAVNAME
if stat=6:end
}
if foa_n=06{
SYSTEMVIEW=1
}
if foa_n=07{
SYSTEMVIEW=0
}
if foa_n=10{
SYSTEMVIEW=5
}
return
#tdeffunc TableRead int ftr_o
Table Data
notesel DATtable_a
noteget SSTR, (ftr_o*2+0)
ftr_n=0
ftr_i=0
repeat -1:if 0=cnt¥1000:await
getstr SSTR. 1, SSTR, ftr_i, :" :ftr_i+=strsize:if strsize=0:break
ftr_m=0
ftr_j=0
repeat -1:if 0=cnt¥1000:await
getstr SSTR. 2, SSTR. 1, ftr_j, ', :ftr_j+=strsize:if strsize=0:break
DATtable_m. ftr_n. ftr_m=int (SSTR. 2)
ftr_m+
loop
ftr_n+

loop




noteget SSTR, (ftr_o*2+1)
ftr_n=0
ftr_i=0
repeat -1:if 0=cnt¥1000:await
getstr SSTR. 1, SSTR, ftr_i, :" :ftr_i+=strsize:if strsize=0:break
ftr_m=0
ftr_j=0
repeat -1:if 0=cnt¥1000:await
getstr SSTR. 2, SSTR. 1, ftr_j, ', :ftr_j+=strsize:if strsize=0:break

DATtable_d. ftr_n. ftr_m=int (SSTR. 2)

ftr_m+
loop
ftr_n+
loop
Table Display

notesel TBLdispldx
noteget SSTR, ftr_o
ftr_n=0
ftr_i=0
repeat -1:if 0=cnt¥1000:await
getstr SSTR. 1, SSTR, ftr_i, " :ftr_i+=strsize
ftr_m=0
ftr_j=0
repeat -1:if 0=cnt¥1000:await
getstr SSTR. 2, SSTR. 1, ftr_j, ", :ftr_j+=strsize
TBLdisplay. ftr_n. ftr_m=SSTR. 2
ftr_m+
if ftr_m>TBLcol :break
loop
ftr_n+
if ftr_n>TBLrow:break
loop
Table Range ( width , Heght )
repeat TBLcol:ftr_m=cnt
TBLw. ftr_m=0
repeat TBLrow:ftr_n=cnt
ftr_a=strlen(TBLdisplay. ftr_n. ftr_m)
if TBLw. ftr_m<ftr_a:TBLw. ftr_m=ftr_a
loop
TBLw. ftr_m+=2
if TBLw. ftr_m<8:TBLw. ftr_m=8
loop

repeat DATfnc+1:ftr _n=cnt




TBLh. ftr_n=2
loop
Pibot
Pfne=-1
Pvar=-1
if ftr_o<CLASS{
notesel TBLpibot
noteget SSTR, ftr_o*2+0:Pfnc=int (SSTR)

noteget SSTR, ftr_o*2+1:Pvar=int (SSTR)

Constant
repeat DATvar-1:m=cnt

DATbase_m. m=0

DATbase_d. m=1

ftr_hit=0:i=-1

repeat DATfnc:n=cnt
SDV=doub|e (DATtable_m. n.m) /double (DATtable_d. n.m)

if SDVI=0.0:ftr_hit+:i=n

loop

if ftr_hit=1{
j=DATvar-1
DATbase_m. m=DATtable_m. i. j

DATbase_d. m=DATtable_d. i. j

loop
return

#tdeffunc TableSave int fts_o
fts_order0=fts_o
fts_order1=fts_ox2
fts_order2=fts_ox2+1
fts_mode=1

—— Pibot Log

dim GRPbs_m, fts_o
dim GRPbs_d, fts_o
dim GRPpx_m, fts_o
dim GRPpx_d, fts_o
dim GRPpy_m, fts_o

dim GRPpy_d, fts_o

— Table
notesel DATtable_a
noteadd “”

noteadd ””




SSTR=""
repeat DATfnc:n=cnt
repeat DATvar :m=cnt
if m>0:SSTR+=", "
SSTR+=DATtable_m.n.m
loop
SSTR+=":"
loop
noteadd SSTR, fts_orderl, fts_mode
SSTR=""
repeat DATfnc:n=cnt
repeat DATvar :m=cnt
if m>0:SSTR+=", "
SSTR+=DATtable_d.n.m
loop
SSTR+=":"
loop
noteadd SSTR, fts_order2, fts_mode
— Display
notesel TBLdispldx
noteadd “”
SSTR=""
repeat TBLrow:n=cnt
repeat TBLcol :m=cnt
if m>0:SSTR+=", "
SSTR+=TBLdisplay.n.m
loop
SSTR+=":"
loop
noteadd SSTR, fts_order0, fts_mode
— Range List
notesel TBLrange
noteadd “”
noteadd “”
celIx=0:cel ly=0
repeat TBLrow:cel |ly+=TBLh. cnt: loop
repeat TBLcol:cel |x+=TBLw. cnt: loop
noteadd str (celIx), fts_order1, fts_mode
noteadd str(celly), fts_order2, fts_mode
—— Pibot List
if fts_o>0{
fts_order1=(fts_o-1)*2

fts order2=(fts o-1)*2+1




notesel TBLpibot

noteadd “”
noteadd “”

noteadd str (Tfnc), fts_order1, fts_mode

noteadd str (Tvar), fts_order2, fts_mode
}

return

#deffunc TableDisplay

Table Display
repeat TBLrow:n=cnt

repeat TBLcol :m=cnt

SSTR=""
if n=0{
if m=0:SSTR="H K & # ”
if (m>0)&(m<DATvar) :a=m-1:SSTR=DATvarname. a
if m=DATvar:SSTR="7 #t 18 ”
if m=DATvar+1:SSTR=" #& i R &
}
if n>0{
if m=0{
a=n-1
repeat DATvar: j=cnt
if DATtable_m. a. j=1{
hit=1
repeat DATfnc:i=cnt
if i=a:continue
if DATtable_m. i. j!=0:hit=0:break
loop
if hit=1:SSTR=DATvarname. j:break
}
loop
}
if m>0:a=n—1:b=m-1:if b<DATvar:s=DATtable_m. a.b:t=DATtable_d. a. b:SSTR=""+StrFract (s, t)
}
TBLdisplay. n. m=SSTR
loop
loop

Table Range ( width , Heght )
repeat TBLcol :m=cnt
TBLw. m=0
repeat TBLrow:n=cnt
len=strlen(TBLdisplay. n.m)

if TBLw. m<len:TBLw.m=len




loop
TBLw. m+=2
if TBLw. m<8:TBLw. m=8
loop
repeat DATfnc+1:n=cnt
TBLh. n=2
loop
return
ttdeffunc CameraRangeReset
CMRrx=0
CMRry=0
notesel TBLrange
repeat CLASS+1:n=cnt*2:m=n+1:o0=cnt
noteget SSTR, n:x=int (SSTR) *fw
noteget SSTR, m:y=int (SSTR) xfh
it CMRrx<x:CMRrx=x
CMRry+=y+CELL
loop
if CMRrx<0:CMRrx=0

if CMRry<0:CMRry=0

return
BOOT
*B0OOT
Buffering
buffer ID_SYSTEM ‘picload “system. bmp”
buffer ID_TITLE ‘picload “title. bmp”
buffer |D_BACK ‘picload “back. bmp”

buffer ID_STORE, wx, wy
buffer ID_GRAPH, wx, wy

buffer ID_GRAPH_S, wx, wy

Window Open

screen ID_MAIN, wx, wy, 4, (ginfo_dispx-wx) /2, (ginfo_dispy-wy) /2, wx, wy:gsel ID_MAIN
title “ “+PROGRAMNAME+” —— ver “+VERSION
redraw 0

SOM=Jes i caComment (0)

=12

font FONTSTYLE, f, 16

color 0, 0, O:boxf 0,0,wx,wy
x=(wx-360) /2

y=(wy-120) /2
pos X, y:gmode 0, 360, 120:gcopy ID_TITLE, 0,0

y+=120




color 255, 255, 255
SSTR="Please Click.” :w=strlen (SSTR) *f/2:x= (wx-w) /2:y+=f+4:pos x, y:mes SSTR
color 128,128,128

pos 16, 16:mes “Copyright: #1 H % (HanleName = M A N A )¥n X XX R EFRFRIMMBERELEI F— L 10 E ¥ Z £ 5

THEY TR

Draw

repeat 300

Keyln

if KEYsign. 4=1:break
await SYSTEMWAIT

loop

MAIN_Input

*MAIN_INPUT_INIT
SYSTEMVIEW=0
font FONTSTYLE, FONTSIZE, 16

clrobj
await 0
Keyln
ob jmode 2,0
objsize wx, wy—64
pos 0, 64
mesbox DATinput,,,,0

ObjectlInit

*MAIN_INPUT

Keyln

SOM=Jes i caComment (101)

gosub *0BJECT_BASE

if SYSTEMVIEW=1:goto *MAIN_INPUT_COMPILE

Draw
goto *MAIN_INPUT
*MAIN_INPUT_COMPILE
index=0
compi le=0
PHASE=0
DATerr=0

DATov=0



sdim DATcompile
sdim DATstandard

sdim LISTvar

Compile
repeat -1
notesel DATinput
if noteinfo(0)=0:DATerr=001:break
if noteinfo(0)<=index:break
noteget SSTR, index
Delete Space Code
SSTR. 1=""
repeat -1:i=cnt
SSTR. 2=strmid (SSTR, i, 1)
hit=0
if SSTR.2=""break
if SSTR.2=" “:hit+
if SSTR.2="¥t":hit+
if hit=0:SSTR. 1+=SSTR. 2

loop
SSTR=SSTR. 1
it PHASE=0{ ;Seek “Aim”
DATerr=002
if (SSTR="max”) | (SSTR="Max”) | (SSTR="MAX") | (SSTR="max. “) | (SSTR="Max. ”) | (SSTR="MAX. ”) | (SSTR="max imize”) |

(SSTR="Maximise”) | (SSTR="MAXIMISE") :DATerr=0:DATaim=0
if (SSTR="min") | (SSTR="Min") | (SSTR="MIN") | (SSTR="min. ) | (SSTR="Min. ") | (SSTR="MIN. ”) | (SSTR="minimize") |
(SSTR="Minimise”) | (SSTR="MINIMISE") :DATerr=0:DATaim=1
if DATerr=0{
notesel DATcompile
if DATaim=0:noteadd “Maximize”
if DATaim=1:noteadd “Minimize”
PHASE+
DATerr=011
}
}else:if PHASE=1{ ;Seek “Aim Function”
if SSTRI=""{
DATerr=0
F1Gact=0
SSTR. 1=""
SSTR. 2=""
SSTR. 3=""

repeat —-1:i=cnt




;FlGact=0 [Not Found ]

;FlGact=1 [Null ]
;F1Gact=2 [Number JCoefficient
;F1Gact=3 [Alphabet JVariable
;FlGact=4 [Formula +, - ]

;FlGact=5 [Formula *, / ]

;F1Gact=6 [Formula >, < ]

;FlGact=7 [Formula = ]

if

F1Gact=00:ROT. 0=1012:ROT. 1=1019:ROT. 2=0001 :ROT. 3=0002:ROT. 4=0001:ROT. 5=1013:ROT. 6=1013:R0T. 7=1013
if

F1Gact=01:ROT. 0=1012:ROT. 1=1013:R0OT. 2=0001:ROT. 3=0002:ROT. 4=1013:ROT. 5=1013:ROT. 6=1013:R0T. 7=1013
if

F1Gact=02:ROT. 0=1012:R0T. 1=0099:ROT. 2=0002:ROT. 3=0002:ROT. 4=0001:ROT. 5=1013:ROT. 6=1013:R0T. 7=1013

SSTR. 2=strmid (SSTR, i, 1)
k=F i gureCheck (SSTR. 2)
pastF|Gact=F|Gact
SSTR. 1+=SSTR. 2
if 0=ROT. k/1000:F|Gact=ROT. k¥1000:e|se:DATerr=R0T. k¥1000
it pastFlGact=2{
if (FlGact=1) | (FlGact=99) {
hit=0
notesel LISTvar
repeat noteinfo(0) :n=cnt
noteget SSTR. 4, n
if SSTR. 3=SSTR. 4:hit=1:break
loop
if hit=0:noteadd SSTR.3

SSTR. 3=""

}
if FlGact=02:SSTR. 3+=SSTR. 2
if FlGact=99:break
it DATerr>0:break
loop
if DATerr=0{
notesel DATcompile
noteadd SSTR. 1
PHASE+

DATerr=021




Jelse:if PHASE=2{
if

(SSTR="Sub jectTo”) :DATerr=0

;Seek “subject to”

(SSTR="s. t. ") | (SSTR="s. t") | (SSTR="st") | (SSTR="ST") | (SSTR="sujectto”) | (SSTR="Subjectto”) |

if DATerr=0{

}
Jelse:if PHASE=3{

notesel DATcompile
noteadd “subject to”
PHASE+

DATerr=031

;Seek “Subject”

if SSTRI=""{

DATerr=0
DATres=0
F1Gact=0
SSTR. 1=""
SSTR. 2=""
SSTR. 3=""
repeat -1:i=cnt
;FlGact=0 [Not Found ]
;FlGact=1 [Null ]

;FlGact=2 [Number JCoefficient

;F1Gact=3 [Alphabet JVariable
;FlGact=4 [Formula +, - ]
;FlGact=5 [Formula *, / ]
;F1Gact=6 [Formula >, < ]
;FlGact=7 [Formula = ]

if

F1Gact=00:ROT. 0=1032:R0T. 1=1039:R0T. 2=0001:ROT. 3=0002:ROT. 4=0001:ROT. 5=1033:ROT. 6=1033:R0T. 7=1033

if

F1Gact=01:ROT. 0=1032:R0T. 1=1033:R0OT. 2=0001:ROT. 3=0002:ROT. 4=1033:ROT. 5=1033:ROT. 6=1033:R0T. 7=1033

if

F1Gact=02:ROT. 0=1032:R0T. 1=1033:R0OT. 2=0002:ROT. 3=0002:ROT. 4=0001:ROT. 5=1033:ROT. 6=0003 :ROT. 7=0004

if

F1Gact=03:ROT. 0=1032:ROT. 1=1033:R0OT. 2=0005:ROT. 3=1033:ROT. 4=0005:ROT. 5=1033:ROT. 6=1033:R0OT. 7=0004

if

F1Gact=04:ROT. 0=1032:R0T. 1=1033:R0T. 2=0005:ROT. 3=1033:ROT. 4=0005:ROT. 5=1033:ROT. 6=1033:R0T. 7=1033

if

F1Gact=05:R0OT. 0=1032:R0T. 1=0099:ROT. 2=0005:ROT. 3=1033:ROT. 4=1033:ROT. 5=1033:ROT. 6=1033:R0T. 7=1033

SSTR. 2=strmid (SSTR, i, 1)
k=F i gureCheck (SSTR. 2)
pastF|Gact=F|Gact

if 0=ROT. k/1000:F|Gact=ROT. k¥1000:e|se:DATerr=R0T. k¥1000




if pastFlGact=2{
if (FlGact=1) | (FlGact=3) | (FlGact=4) {
hit=0
notesel LISTvar
repeat noteinfo(0) :n=cnt
noteget SSTR. 4, n
if SSTR. 3=SSTR. 4:hit=1:break
loop
if hit=0:noteadd SSTR.3
SSTR. 3=""

}
if FlGact=02:SSTR. 3+=SSTR. 2
if FlGact=03:DATres+
if FlGact=04:if DATres>0:SSTR. 2=""
SSTR. 1+=SSTR. 2
if FlGact=99:break
if DATerr>0:break
loop
if DATerr=0{
notesel DATcompile

noteadd SSTR. 1

index+
await 0
loop
notesel EDTnote
if DATerr>0{
if DATerr=001:SSTR="Compile error “+DATerr+¥n A AR v Y RO RN EMNEE T T,
if DATerr=002:SSTR="Compile error “+DATerr+'¥n BB O F A AR 2Mh YU F B A, ¥ {THEIZIE mx (F K
LB E) » min (RMDMEBE) ZAALTTEL,
if DATerr=011:SSTR="Compile error “+DATerr+'¥n B B A R 2 » U T & A,

if DATerr=012:SSTR="Compile error “+DATerr+¥n B MBS O B AFET T, INFERATETHELVXFLEENT

WEJ,
if DATerr=013:SSTR="Compile error “+DATerr+¥n B M BB O B A FETT. ¥nAARAIZERLTWLET,
if DATerr=014:SSTR="Compile error “+DATerr+¥n B BB OB B A FETT. ¥R —"LZODEHIAELEL TE R
EhTWLWFET,

if DATerr=019:SSTR="Compile error “+DATerr+¥n * R T LI 5 —T9, nEMBEHOFz v I/ FICHBEHN
FEHEERY F L, WEAETICADRILF—2FFEELTTEN,

if DATerr=021:SSTR="Compile error "+DATerr+"¥n Gl B M D EFEMEA R O Y FF A, ¥IGIHBEREADS




% BT {TIZsubject toZ A AL TTF & LY,
if DATerr=031:SSTR="Compile error
if DATerr=032:SSTR="Compile error
WEJ,
if DATerr=033:SSTR="Compile error
if DATerr=034:SSTR="Compile error
ENhTWLWET,
if DATerr=039:SSTR="Compile error
FEBGEZRY FL =,
if DATerr=999:SSTR="Compile error
L = AY,
dialog SSTR, 1, PROGRAMNAME
SYSTEMVIEW=0

goto *MAIN_INPUT_INIT

Table Init
notesel DATcompile  :DATfnc=noteinfo(0)-2
notesel LISTvar
dim DATrestric, DATfnc
dim DATtable_m, DATfnc, DATvar
dim DATtable_d, DATfnc, DATvar
dim DATbase_m, DATvar
dim DATbase_d, DATvar
dim TBLw, TBLcol

dim TBLh, TBLrow

sdim DATvarname, DATvar

sdim DATtable_i

sdim TBLdisplay, TBLrow, TBLcol
sdim TBLdispldx

sdim TBLpibot

sdim TBLrange

ORDER=0

CLASS=0

Variable Value Name Read

repeat (DATvar-1) :n=cnt:m=n-1:o0=n-noteinfo (0)

“DATerr+"¥n HI M BB O R BN FRE T,
“+DATerr+"¥n | £ B8 # ® i ik A

“+DATerr+¥n X T LT 53 —TY,
B ETICAVRALT—2%&FE
“+DATerr+¥n @i ML T 5 — T 9,

“DATerr+"¥n HI M BB A R O Y F & A,
“+DATerr+"¥n HI BB O L B A FE T T,

WWERATELLXFAEENT

I ADRAMIZERLTWETS,

CAENFTETYT, WRA-—BOEBHINERELTESR

ol

IHHBEHROF v I RIZABEHRN
LTTF &L,
IOVNANLIEFELLKETTEEXFEAT

A cEEIRELEONMDDLY FH A

:TBLrow=DATfnc+1

:DATvar=noteinfo (0) +DATfnc+1:TBLco|=DATvar+2

;Data Restriction

;Data Table Value Molecule

;Data Table Value Denominator

;Data Base Var. Molucule

;Data Base var. Denominator
;Table Stat Width
;Table Stat Height
;Data Var.

Name

;Data Table Value Index

;Table Stat Display

;Table Stat Display Index
;Table Pibot List

;Table Range List

;Table Index Order

;Table Class Number

if n=0:SSTR="(2)":if DATaim=1:SSTR="(-2)"

if (n>0)&(n<noteinfo(0)+1) :noteget SSTR, m

if nd>noteinfo(0) :SSTR=" (S"+o+")"”

DATvarname. n=SSTR




loop

Coefficient Read

Molecule Reset

notesel DATcompile

repeat DATfnc:n=cnt

if n=DATfnc-1:0=1:else:o=cnt+3

noteget SSTR, o

repeat (DATvar-1) :m=cnt

F1Gact=00:ROT. 0=1051:R0OT. 1=1051:

F1Gact=01:ROT. 0=1051:R0OT. 1=1051:

F1Gact=02:ROT. 0=1051:R0OT. 1=0099:

F1Gact=03:ROT. 0=1051:R0OT. 1=1051:

F1Gact=04:ROT. 0=1051:R0OT. 1=0099:

F1Gact=0

SSTR. 1=""

SSTR. 2=""

SSTR. 3=""

SSTR. 4=""

repeat -1:i=cnt
if

ROT. 2=0001:ROT. 3=0002:R0OT. 4=0001:R0T. 5=1051:ROT. 6=1051:ROT. 7=1051
if

ROT. 2=0001:ROT. 3=0002:ROT. 4=1051:R0T. 5=1051:ROT. 6=1051:ROT. 7=1051
if

ROT. 2=0002:ROT. 3=0002:ROT. 4=0001:ROT. 5=1051:ROT. 6=0003:ROT. 7=0003
if

ROT. 2=0004 :ROT. 3=1051:R0OT. 4=0004:R0T. 5=1051:ROT. 6=1051:ROT. 7=1051
if

ROT. 2=0004:ROT. 3=1051:R0OT. 4=1051:ROT. 5=1051:ROT. 6=1051:R0OT. 7=1051

SSTR. 2=strmid (SSTR, i, 1)
k=F i gureCheck (SSTR. 2)
pastF|Gact=F|Gact
F1Gact=ROT. k¥1000
if pastFlGact=2{
if (FlGact=1)| (FlGact=3) | (Fl1Gact=99) {
if SSTR. 3=DATvarname. m{

a=int (SSTR. 4)

if SSTR.4="":a=1
if SSTR. 4="+":a=1
if SSTR.4="-":a=-1

if (0=1)&(DATaim=0) :a=a*(-1)

DATtable_m. n. m+=a

SSTR. 3=""




if FlGact=01{
if pastFlGact!=01:SSTR. 4=""
SSTR. 4+=SSTR. 2

}

if FlGact=02:SSTR. 3+=SSTR. 2

if FlGact=03{
if SSTR.2="=":DATrestric. n=1
if SSTR.2="<":DATrestric.n=2

if SSTR.2=">":DATrestric.n=3

if m=0{
if FlGact=04{
if pastFlGact!=4:SSTR. 4=""
SSTR. 4+=SSTR. 2
}
if FlGact=99{

if pastFlGact=4:r=DATvar-1:DATtable_m. n. r=int (SSTR. 4)

}
if FlGact=099:break
loop
loop
loop
Denominator Reset
repeat DATfnc:n=cnt
repeat DATvar :m=cnt
DATtable_d. n. m=1
loop

loop

Standardization
repeat DATfnc:n=cnt

m=n+DATvar-DATfnc

if n=DATfnc-1:m=0

d=1:if DATrestric.n=3:d=-1

if DATrestric.n=1:d=0

DATtable_m. n. m=d

if d=—1{

repeat DATvar :m=cnt
DATtable_m. n. m=—DATtable_m.n.m

loop

loop




Write Standardly
notesel DATstandard
repeat DATfnc+1:n=cnt
SSTR=""
if n=0{
SSTR="Max. ¥t"+DATvarname. 0
lelsef
if n=1:SSTR="s. t. ¥t" .else:SSTR="¥t"
i=n-1:k=0
repeat DATvar-1:j=cnt
if DATtable_m. i. j=0:continue
if k=0{
if DATtable_m. i. j<O:SSTR. 1="-":else:SSTR. 1=" ~
lelsef
if DATtable_m. i. j<O:SSTR. 1="-":else:SSTR. 1="+"
}
t=abs (DATtable_m. i. j)
if tD1:SSTR. 1+=str (1)
SSTR+=""+SSTR. 1+DATvarname. j+” ”
k+
loop
j+
SSTR+="="
if DATtable_m. i. j<0:SSTR+="-":else:SSTR+=" "
SSTR+=str (abs (DATtable_m. i. j))
}
noteadd SSTR
loop
SSTR="¥t"
repeat DATvar-2:n=cnt+1
if n>1:SSTR+=","
SSTR+=""+DATvarname. n
loop
SSTR+="=0"
noteadd SSTR

INFOL INE=noteinfo (0)

Graph
GRAPH=0
if 2=DATvar-DATfnc-1{
2 Dimention Graph

— Graph Range




GRAPH=1
d=DATfnc-1
dim GRPxm, n
dim GRPxd, n
dim GRPym, n
dim GRPyd, n
MaxX=0
MaxY=0
repeat DATfnc-1:n=cnt ;Crossing Position
i=1:j=2:k=DATvar-1
a=DATtable_m.n. i
b=DATtable_m.n. j
c=DATtable_m.n. k
repeat DATfnc+1:m=cnt
if m=n:continue
if m<DATTnc{
i=1:j=2:k=DATvar-1
s=DATtable_m.m. i
t=DATtable_m.m. j
u=DATtable_m.m. k
}
if m=DATfnc-1:s=1:t=0:u=0
if m=DATfnc-0:s=0:t=1:u=0
GRPxm. n=uxb—tx*c
GRPxd. n=sxb-tx*a
GRPym. n=uxa-s*c

GRPyd. n=t*a-sx*b

x=0:y=0
if GRPxd. n!=0:x=GRPxm. n/GRPxd. n
if GRPyd. n!=0:y=GRPym. n/GRPyd. n
if MaxX<x:MaxX=x
if MaxY<y:MaxY=y
loop
loop
MaxX+

MaxY+

—— Graph Range (Ratio to WindowSize)
sx=wx—-CELL*8
sy=wy-CELL*4
mx=MaxX*11/10

my=MaxY*11/10




p=CalFractPledge (sx, sy)

rx=sx,/p

ry=sy/p

SDV. O=doub |l e (rx) /double (mx)
SDV. 1=doub | e (mx) *SDV. 0

SDV. 2=doub | e (my) *SDV. 0

SDV. 3=double (ry)

BASIS=0:if SDV.2>SDV. 3:BASIS=1
MAG=0. 0:MEASURE=0. 0

if BASIS=0:MAG=double (sx) /SDV. 1
if BASIS=1:MAG=double (sy) /SDV. 2
GRPwx=int (SDV. 1+MAG) +CELL*2: i f BASIS=0:MEASURE=doub|e (GRPwx-CELL*2) /doub e (MaxX)

GRPwy=int (SDV. 2%xMAG) +CELL=*2: i f BASIS=1:MEASURE=doub | e (GRPwy—CELL*2) /double (MaxY)

— Draw Graph
—-- —— BackGround
gsel |ID_GRAPH
color 255, 255, 255

boxf 0, 0, GRPwx, GRPwy

-— — Grid
color 224,224,224
repeat GRPwx:x=cnt
x=int (doub | e (x) *MEASURE) +CELL
if x>GRPwx:break
line x, 0, x, GRPwy
loop
repeat GRPwy:y=cnt
y=—int (doub e (y) *MEASURE) +GRPwy—CELL
if y<0:break
line 0,y, GRPwx, y

loop

—— — Function

font FONTSTYLE, 11,16

notesel DATcompile

repeat DATfnc—1:n=cnt
ColorOrder n
color COLr, COLg, COLb
i=1:j=2:k=DATvar-1
a=DATtable_m.n. i
b=DATtable_m.n. j

c=DATtable m.n. k




if b!=0{

lelsef

}

mx1=0 1dx1=1
my1=c—a*mx1 1dy1=b
mx2=MaxX*x11/10+1:dx2=1
my2=c—a*mx2 1dy2=b
x1=int (double (mx1) *MEASURE/doub | e (dx1))
y1=int (double (my1) *MEASURE /doub | e (dy1))
x2=int (double (mx2) *MEASURE/doub | e (dx2) )
y2=int (doub e (my2) *MEASURE /doub | e (dy2) )
x1+=CELL
x2+=CELL
y1=—y1+GRPwy-CELL

y2=-y2+GRPwy-CELL

mx1=c ‘dx1=a
mx2=c ‘dx2=a
x1=int (double (mx1) *MEASURE/doub | e (dx1))
x2=int (double (mx2) *MEASURE/doub | e (dx2) )
x1+=CELL
x2+=CELL
y1=0

y2=GRPwy

noteget SSTR, n+3

pos CELL+16, 8+n* (FONTSIZE+6) :mes “H:“+SSTR

5=0:d=0

if DATrestric.n=2:d=1

if DATrestric. n=3:d=-1

cr=(255-C0Lr) /7

cg=(255-C0Lg) /7

cb=(255-C0Lb) /7

repeat 7:t=cnt

loop

loop

-— — Stem
font FONTSTYLE, 10, 16

color 255,255, 255

s+=d*t
color GOLr+crxt, COLg+cg*t, COLb+cb*t
if a<=b:line x1,yl+s, x2, y2+s

if a> b:line x1-s,y1, x2-s, y2

boxf 0, GRPwy—-CELL, GRPwx, GRPwy




boxf 0,0, CELL, GRPwy
color 32,32, 32
l'ine CELL, 0, CELL, GRPwy-GELL
line GELL, GRPwy—CELL, GRPwx, GRPwy-CELL ;Stem Y
gx=int (doub|e (GRPwx) /MEASURE) /10:if gx<1:gx=1
gy=int (double (GRPwy) /MEASURE) /10:if gy<1:gy=1
r=4
repeat GRPwx:x=cnt:n=cnt
if Ol=x¥gx:continue
x=int (doub | e (x) *MEASURE) +CELL
if x>GRPwx:break
line x, GRPwy—CELL-r, x, GRPwy—CELL+r
w=str len(str (n))*5/2
pos X-w, GRPwy—CELL+r+2:mes ““+n
loop
repeat GRPwy:y=cnt:n=cnt
if 0l=y¥gy:continue
y=—int (doub e (y) *MEASURE) +GRPwy—CELL
if y<0:break
line CELL-r,y, CELL+r,y
w=strlen(str(n))*5
pos CELL-w-r-2,y-5:mes ““+n
loop
color 255,0,0
pos 4, 8:mes DATvarname. 2

pos GRPwx-strlen (DATvarname. 1) *5-4, GRPwy-15:mes DATvarname. 1

—— End Making Graph
color 0, 255, 255

LineBox 0, 0, GRPwx—1, GRPwy-1

gsel ID_MAIN

;clrobj

;pos 0,0

;gmode 0, GRPwx, GRPwy
;gcopy [D_GRAPH, 0,0
;Draw

,stop

Make Table Display

TableDisplay

;Stem X




TableSave ORDER

SYSTEMVIEW=2

*MAIN_TABLE_INIT

clrobj
await 0
Keyln
ObjectlInit
Option
dim OPTION, 8, 8
OPTION. 0. 0=1 ;Pibot Option —— Aim less 0
OPTION. 0. 1=1 ;Pibot Option —— Base than 0
Camera

CMRpx=0: CMRpy=0 ;Camera Position

CMRfx=0:CMRfy=0 ;Camera Forcus

CMRrx=0:CMRry=0 ;Camera Range

CameraRangeReset

KeySpeed

Whee | Speed=CELL

Font Size
font FONTSTYLE, FONTSIZE, 16
fw=FONTSIZE/2
fh=FONTS | ZE

FADE=0. 0 ;Font color fade

ClickFlag

hit=0

*MA IN_TABLE
Keyln
SOM=Jes i caComment (201)

if SYSTEMVIEW=0:goto *MAIN_INPUT_INIT

Camera Action

if (csry<=80)&(csry>64) :CMRfy—=4

if (csry>=wy-16) :CMRfy+=4




if (KEYsign. 7=0) & (KEYwhee |>0) : CMRfy—=Whee | Speed
if (KEYsign. 7=0) & (KEYwhee 1<0) : CMRfy+=Whee | Speed
if (KEYsign. 7>0) & (KEYwhee |>0) : CMRfx—=Whee | Speed
if (KEYsign. 7>0) & (KEYwhee 1<0) : CMRfx+=Whee | Speed
if CMRfy<0:CMRfy=0:else:if CMRfy>CMRry:CMRfy=CMRry
if CMRfx<0:CMRfx=0:else:if CMRfx>CMRrx:CMRfx=CMRrx
CMRpy+= (CMRfy-CMRpy) /2

View Stat
dx= 64-CMRpx
dy=128-CMRpy
dy+=INFOL INExfh+CELL*2

FADE+=0.40:if FADE>=6. 28:FADE-=6. 28

Background
TEXTURE=1024
gmode 0, TEXTURE, TEXTURE
pos 0, 64

gcopy |D_BACK, 0,0

Head Information
if CMRdy< (INFOL INExfh+CELL*2) {
color 255,244,224
boxf 0, 128-CMRpy, wx, 128-CMRpy+INFOL INExfh
color 64, 64,32
pos dx, 128-CMRpy

mes DATstandard

Table
VIEW=-1
repeat CLASS+1:0RDER=cnt
Seek In Camera
if VIEW<O(
notesel TBLrange
noteget SSTR, ORDER*2+1
y=dy+int (S§STR) *fh+CELL
py=CMRpy- (160*ORDER) —CELL*5-NFOL | NExfh
if y<py:dy=y:continue

VIEW=0RDER

Table Order Read




TableRead ORDER

Attention
SSTR=""
t=0
repeat DATvar-1:m=cnt
if m=0:continue
if DATbase_m. m<0:t+:break
loop
if £50{
SSTR+=" B |E & ¥
t=0
repeat DATvar-1:m=cnt
if m=0:continue
if DATbase_m. m<0{
if t>0:SSTR+="
SSTR+=""+DATvarname. m

t+

loop

SSTR+=" MDEHINEHTT. MEFHBIZERLTLFET,

}
ATTENT ION=SSTR

Cursor
—— Cursor Graph
if GRAPH=1{
w=24:h=w:x=dx-w:y=dy:f=0
if hit=0{
if (csrx>x)&(esrx<=x+w) & (csry>y) & (csry<=y+h) : f+
if (KEYsign.4=1)&(f=1) {
hit+
-+
GRPodr=0RDER+1
SYSTEMVIEW=4

}
pos X,y
gmode 2, w, h
gcopy |ID_SYSTEM, f*xw, 183
gcopy |ID_SYSTEM, 8*w, 0
}
if ATTENTION!=""{




w=24h=w: x=dx-w:y=dy+h:f=0

if hit=0{
if (csrx>x)&(esrx<=x+w) & (csry>y) & (csry<=y+h) : f+
if (KEYsign.4=1)&(f=1) :dialog ATTENTION, O, PROGRAMNAME
}
pos X,y
gmode 2, w, h

gcopy |ID_SYSTEM, f*w, 183

gcopy |ID_SYSTEM, 9*w, 0

—— Cursor Table
if hit=0{
Tvar=0
cel [x=0
celly=0
repeat DATvar :m=cnt
if m<=1:cel|x+=TBLw. m:continue
t=0
i=DATfnc-1: j=m-1
if (DATtable_m. i. j<0) | (OPTION. 0. 0=0) :t+
if DATbase_m. j!=0:t=0
if t50{
celly=0
repeat TBLrow:n=cnt
if (n>0)&(n<DATfnc) {

t=1:p=n-1:g=m-1

if (DATtable_m.p.q<0)&(OPTION. 0. 1=1) :t=0

if DATtable_m. p. g=0:1t=0

}

if hit>0:break

if £50{
x=dx+ce | | xxfw:w=TBLw. mxfw:y=dy+cel | yxfh:h=TBLh. nxfh
it (csrx>x)&(csrx<=x+w) & (csry>y) & (csry<=y+h) {
hit=1
Tfnc=n-1 ;Target Function
Tvar=m-1 ;Target Variable
Todr=0RDER ;Target Order
break
}
}
}
cel ly+=TBLh.n




cel Ix+=TBLw.m

loop
if hit>0{
repeat DATfnc—1:n=cnt:m=DATvar-1:i=n+1:j=DATvar+1
a=DATtable_m.n.m
b=DATtable_d.n.m
c=DATtable_m. n. Tvar
d=DATtable_d. n. Tvar
s=axd
t=b*c
TBLdisplay. i. j=""+StrFract (a, b)+”/“+StrFract (¢, d)+” ="+StrFract (s, t)
loop
}
m=TBLcol-1
TBLw. m=0

repeat TBLrow:n=cnt
len=strlen(TBLdisplay. n.m)
if TBLw. m<len:TBLw. m=len

loop

TBLw. m+=2

if TBLw. m<8:TBLw. m=8

Decide Pibot

if (KEYsign.4=1)&(hit>0) :SYSTEMVIEW=3

—— Table Frame
cel 1x=0
celly=0
repeat TBLcol:cel |x+=TBLw. cnt: loop
repeat TBLrow:cel |ly+=TBLh. cnt: loop
color 250, 240, 220

boxf dx, dy, dx+cel | x*fw, dy+cel |y*fh

color 240, 200, 180
boxf dx, dy, dx+TBLw. Oxfw, dy+cel [yxfh

boxf dx, dy, dx+cel | x*fw, dy+TBLh. Oxfh

x=0:y=0

repeat DATfnc:y+=TBLh. cnt: loop

repeat DATvar :x+=TBLw. cnt: loop

boxf dx+xxfw, dy, dx+cel | xxfw, dy+cel [yxfh

boxf dx, dy+y*fh, dx+cel | xxfw, dy+cel [yxfh




Draw Table
—- Table No.
color 0,0,0
pos dx, dy-fh:mes “Table No. “+(ORDER+1)
color 255, 255, 255
boxf dx, dy+cel lyxfh, dx+cel [xxfw, dy+cel | yxfh+fh+4
pos dx, dy+cel |yxfh+4
SSTR=""
repeat DATvar-1:m=cnt

if m>0:SSTR+="
SSTR+=""+DATvarname. m+“="+StrFract (DATbase_m. m, DATbase_d. m)

loop
color 0, 64, 64

mes SSTR

—— Cell Info
celly=0
repeat TBLrow:n=cnt
cel 1x=0
repeat TBLcol :m=cnt
SSTR=TBLdisplay. n.m+"”
len=strlen (SSTR)
color 24, 24,32
if (m=Tvar+1)&(Tvar>0) & (Todr=0RDER) :color 0, 128,0
if m=DATvar:color 0,0, 255
x=dx+ce | | x*fw+ (TBLw. m—|en) *fw/2
y=dy+cel ly*fh+ (TBLh. n-1) *fh/2
pos X,y
iT m<=DATvar:mes SSTR:else:if strlen(SSTR)>0{

if n=0:mes SSTR:else{

color 0,0, 255
type=0
i=n-1:j=Tvar-1

if (DATtable_d. i.j=1)| (DATtable_d. i. j=—1) :type+
repeat strlen(SSTR) :i=cnt
SSTR. 1=strmid (SSTR, i, 1)

repeat 1
if type=0:if SSTR.1="/" :color

0, 255:type+:break
if type=1:if SSTR.1="/" :color

32:type+:break
if type=2:

24,

24




color 0,128, O:type+:break

if type=3:if SSTR.1="=" :color 24

32:type+:break
if type=4:
color 24, 24, 32:type+:break
loop
if (type=5)&(Tfnc=n-1) :color 255,0,0
pos x+fwki,y:mes SSTR. 1

loop

}
if n=DATfnc{
color 0,0, 255
line cel | xxfw+dx, dy, cel | xxfw+dx, (cel |y+TBLh. n) *fh+dy
}
cel Ix+=TBLw.m
loop
color 0,0, 255
line dx, dy+cel lyxfh, dx+cel [xxfw, dy+cel [yxfh
if n=DATfnc:line dx, dy+cel ly*fh+1, dx+cel [xxfw, dy+cel |y*fh+1
cel ly+=TBLh.n

loop

—— Table Out Frame
color 0,0, 255
LineBox dx, dy, dx+cel | x*fw, dy+cel |y*fh

LineBox dx-1, dy-1, dx+cel I x*fw+1, dy+cel [ yxfh+1

— Cursor Mark
r=sin (FADE) *30+220
cel [x=0
repeat DATvar :m=cnt
celly=0
i=DATfnc-1: j=m-1
repeat DATfnc+1:n=cnt
if m<=1:break
if (DATtable_m. i. j>=0)& (OPTION. 0. 0=1) :break
if (DATbase_m. j!=0) :break
if (n>0)&(n<DATfnc) {
t=1:p=n-1:g=m-1
if (DATtable_m.p.q<0)&(OPTION. 0. 1=1) :t=0
if DATtable_m. p. g=0:1t=0

if t>0{

24




cr=250:cg=r:cb=r

if (n=Tfnc+1) & (m=Tvar+1) & (Todr=0RDER) :cr=255:cg=0:cb=0

if (n=Pfnc+1)& (m=Pvar+1) & (Pfnc>=0) :cr=255:cg=0:cb=255

x=dx+ce | | xxfw:w=TBLw. mxfw:y=dy+cel | yxfh:h=TBLh. nxfh

a=1:color cr,cg, ch:LineBox x+a, y+a, x+w-a, y+h-a:cr=cr/2:cg=cg/2:ch=cbh/2

a=2:color cr,cg, cb:LineBox x+a, y+a, x+w-a, y+h-a

}

cel ly+=TBLh. n

if (n=DATfnc)& (m=Tvar+1) & (Todr=0RDER) {
x=dx+ce | | xxfw:w=TBLw. m¥fw:y=dy:h=cel | y*fh
color 0,128, 0:a=3:LineBox x+a, y+a, x+w-a, y+h-a
color 0,255, 0:a=4:LineBox x+a, y+a, x+w-a, y+h-a

color 0,128, 0:a=5:LineBox x+a, y+a, x+w-a, y+h-a

loop
cel Ix+=TBLw.m

loop

Display Position Y - Shift
celly=0
repeat TBLrow:cel |ly+=TBLh. cnt: loop
dy+=ce| | yxfh+CELL*2
if wy<dy:break

loop

Navi
color 0,0,0
pos 0, 64:mes “VIEW="+(VIEW+1)

pos 0,80:mes “L.0.="+(ORDER+1)

Object
gosub *0BJECT_BASE

Draw

if SYSTEMVIEW=3:goto *MAIN_TABLE_SHIFT
if SYSTEMVIEW=4:goto *MAIN_GRAPH_VIEW
if SYSTEMVIEW=5:goto *MAIN_OPTION

goto *MAIN_TABLE

*MAIN_TABLE_SHIFT
Init

TableRead Todr




ORDER=Todr+1

CLASS=Todr+1

Pibot
PIBOT_M=DATtable_m. tfnc. tvar
PIBOT_D=DATtable_d. tfnc. tvar
repeat DATvar :m=cnt:n=tfnc

if DATtable_m. n.m=0:continue

a=DATtable_m. n.mxPIBOT_D
b=DATtable_d. n. mxPIBOT_M

c=CalFractPledge (a, b)

a=a/c

b=b/c

if b<0:b=-b:a=-a
DATtable_m. n. m=a
DATtable_d. n.m=b

loop

Shift
repeat DATfnc:n=cnt

if n=tfnc:continue

ratio_m=DATtable_m. n. tvar

ratio_d=DATtable_d. n. tvar

repeat DATvar :m=cnt
if DATtable_m. tfnc. m=0:continue
a=DATtable_m. n. mxDATtable_d. tfnc. mxratio_d
b=DATtable_m. tfnc. mxratio_m«DATtable_d.n.m

c=DATtable_d. n.mxDATtable_d. tfnc. mxratio_d

d=a-b
if d=0{
DATtable_m. n. m=0
DATtable_d. n. m=1
lelsef

p=CalFractPledge (d, ¢)
a=d/p
b=c/p
if b<0:b=-b:a=-a
DATtable_m. n.m=a

DATtable_d. n.m=b

loop

loop




Make Table Display
TableDisplay
TableSave ORDER

CameraRangeReset

SYSTEMVIEW=2
goto *MAIN_TABLE
*MA IN_GRAPH_VIEW

Store
gsel ID_STORE
color 0,0,0

boxf 0,0, wx, wy
pos 0,0
gmode 3, wx, wy, 128
gcopy ID_MAIN
pos (wx—GRPwx) /2, (wy-GRPwy) /2
gmode 2, GRPwx, GRPwy
gcopy ID_GRAPH, 0,0
Main
gsel ID_MAIN
pos 0,0
gmode 0, wx, wy
gcopy ID_STORE
SHIFTx= (wx-GRPwx) /2+CELL-8

SHIFTy= (wy—GRPwy) /2+GRPwy-CELL-8

Stat

MOVESHEET=30

MOVET IME=0

MOVETYPE=0

x=0

y=0

repeat GRPodr:o=cnt
TableRead o
GRPbs_m. o=DATbase_m. 0
GRPbs_d. o=DATbase_d. 0
GRPpx_m. o=DATbase_m. 1
GRPpx_d. o=DATbase_d. 1
GRPpy_m. 0=DATbase_m. 2
GRPpy_d. 0=DATbase_d. 2
if o=0{

n=DATfnc-1

vx=DATtable m.n. 1




vy=DATtable_m.n. 2

loop

*MAIN_GRAPH_WAIT
Keyln
MOVET IME+
if MOVETIME>MOVESHEET :MOVET IME=0:MOVETYPE+

i f MOVETYPE>=GRPodr-1:MOVETYPE=0

BackGround
gmode 0, wx, wy

pos 0, 0:gcopy ID_STORE, 0,0

Cursor
repeat GRPodr:o=cnt
color 0,0,0
pX=X
py=y
x= int (double (GRPpx_m. o) *MEASURE /doub | e (GRPpx_d. 0) ) +SHIFTx
y=-int (doub | e (GRPpy_m. o) *MEASURE/doub | e (GRPpy_d. 0) ) +SHIFTy
if (0>0)&(0=MOVETYPE+1) {
p=(x—px) *MOVET IME/MOVESHEET+px
a=(y-py) *MOVET IME/MOVESHEET+py
t=1
pos p, q
gmode 4,16, 16, 128
gcopy |D_SYSTEM, tx16, 223
}
if 0=GRPodr-1 {
color 255,0,0
SDV=atan (vx, vy)
p=x+8
0=y+8
s=p-sin (SDV) *CELL
t=g+cos (SDV) *CELL
line p,q,s, t
p=s
o=t
SDV+=2. 80
s=p-sin(SDV) *8
t=g+cos (SDV) *8

line p,q,s, t




SDV-=5. 60
s=p-sin (SDV) *8
t=g+cos (SDV) *8
line p,q,s, t

}

pos X,y

t=2:if 0=GRPodr-1:t=3

gmode 2,16, 16

gcopy |D_SYSTEM, tx16, 223

gcopy |ID_SYSTEM, 0, 223

SSTR=""+DATvarname. 1+"="+StrFract (GRPpx_m. 0, GRPpx_d. 0) +"¥n”+DATvarname. 2+"="+StrFract (GRPpy_m. o, GRPpy_d. 0) +"¥n”+DATvarname. 0+"="+StrFract (GR
Pbs_m. o, GRPbs_d. o)

;color 32,32, 32

;pos x+17, y=3+fh+1:mes SSTR

;color 128,128, 255:if 0=GRPodr-1:color 255,0,0
;pos x+16, y-3+xfh+0:mes SSTR

loop

Retunr Table
hit=0
if KEYsign. 4=1:hit+

if hit>0:SYSTEMVIEW=2:goto *MAIN_TABLE

Draw
await STSTEMWAIT

goto *MAIN_GRAPH_WAIT

*MAIN_OPTION
Store
gsel ID_STORE
color 0,0,0

boxf 0,0, wx, wy

pos 0,0

gmode 3, wx, wy, 128

gcopy ID_MAIN
Main

gsel ID_MAIN

pos 0,0

gmode 0, wx, wy

gcopy ID_STORE

w=320:h=240

SHIFTx= (wx—w) /2




SHIFTy=(wy-h) /2

x1=SHIFTx

y1=SHIFTy

X2=x1+w

y2=y1+h

color 160, 160, 160:boxf x1,y1, x2,y2
color 224,224,224 1ine x1,y1, x2, y1
color 064,064,064:1ine x2,y1,x2,y2
color 064,064,064:1ine x2,y2, x1,y2
color 224,224,224 1ine x1,y2, x1,y1
SHIFTx+=16

SHIFTy+=16

color 224,224,224 :boxf SHIFTx+030, SHIFTy+015, SHIFTx+232, SHIFTy+048

color 000, 000, 000

pos SHIFTx, SHIFTy:mes " E R v FBIRFIE A 7 >
pos SHIFTx+032, SHIFTy+018:mes “ B # &l #5 A\ & % 4
pos SHIFTx+032, SHIFTy+034:mes “ £ & Z 2 M IE $t %

ob jmode 2,0
objsize 16, 16
pos SHIFTx+200, SHIFTy+016:chkbox “”, OPTION. 0.0

pos SHIFTx+200, SHIFTy+032:chkbox “”, OPTION. 0. 1

x1=SHIFTx

y1=y2-32

x2=x2-16

y2=y2-32

color 224,224,224 1ine x1,y1+0, x2, y2+0
color 064,064, 064:1ine x1,y1-1, x2, y2-1
objsize 64,24:pos (wx-64)/2, y1+4

button goto “ & 3 “, *MAIN_OPTION_END

Draw

*#MAIN_OPTION_EDIT

await STSTEMWAIT

goto *MAIN_OPTION_EDIT
*MAIN_OPTON_END

clrobj

SYSTEMVIEW=2

goto *MAIN_TABLE
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Sub Routine

*0BJECT_BASE
Back Ground
r=wx/CELL:if wx¥CELL>0:r+
gmode 0, GELL, CELL
repeat 2:m=cnt
repeat r:n=cnt
pos nxGELL, mkCELL
gcopy |ID_SYSTEM, mxCELL*2, GELL
loop
loop
pos 0, CELL:gcopy ID_SYSTEM, 1*CELL, CELL

pos wx—CELL, CELL:gcopy [D_SYSTEM, 3+CELL, CELL

Object
x=8:y=4:w=24:h=w:gmode 2, w, h:color 128, 64, 64
repeat OBJnum:n=cnt:z=wkn
if 0BJid.n=0:continue
hit=0
it (csrx>=x+z) & (csrx<x+w+z) & (csry>=y) & (csry<y+h) {
hit+
SOM=Jes i caComment (int (0BJid. n))
if (KEYsign.4>1)&(0BJcnd. n=2) thit+
if (KEYsign.4=1):hit+
if (KEYsign. 4=0)&(0BJcnd. n=2) :0bjectAction int (0BJid. n)
}
pos x+z,y:gcopy |ID_SYSTEM, wxhit, 183

pos x+z,y:gcopy |ID_SYSTEM, wxOBJid.n, 0

0BJend. n=hit
loop
JesicaComment
pos 8, CELL+10 :color 64, 32,32:mes SOM
return

Program End




